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B.SC. SECOND YEAR EXAMINATION, 2019 

CHEMISTRY  

Paper – II 

ORGANIC CHEMISTRY   

Time: Three Hours 

Maximum Marks: 50 
 

         PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 10] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj 50 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 25] 

Answer five questions (200 words each). 

Selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d,d&,d,d&,d,d&,d iz’u pqurs gq,] dqy ik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 200 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

           PART – C ¼[k.M & l½¼[k.M & l½¼[k.M & l½¼[k.M & l½      [Marks: 15] 

Answer any two questions (300 words each). 

All questions carry equal marks. 

    dksbZ nks iz’unks iz’unks iz’unks iz’u dhft,A izR;sd iz’u dk mŸkj 300 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A @ @ @ @ [k.M[k.M[k.M[k.M    & v& v& v& v 

Q.1 (i) Write a method for synthesis of epoxide.              [1] 

  bikWDlkbM ds la’ys"k.k dh ,d fof/k fyf[k;sA 

 (ii) Write the structure of following compounds - [¼×4=1] 

  (a) Picramide 

  (b) Aspirin 

  (c) Phenolphthalein 

  (d) Pyrogallol  

 fuEufyf[kr ;kSfxdksa dh lajpuk fyf[k;s & 

 (a) fiØsekbM 

 (b) ,sfLifju 

 (c) fQuksY¶Fksyhu 

 (d) ikbjksxSyksy 

 (iii) Benzaldehyde reduces Tollen’s reagent but cannot reduce the Fehling solution. 

Why?              [1] 

  cSUtSfYMgkbM VkWyu vfHkdeZd dk vip;u dj nsrk gS ijUrq QsgfyUx foy;u dk vip;u 

 ugha dj ldrk gSA D;ksa\ 
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 (iv) Complete the following reaction –              [1] 

   

   

  fuEufyf[kr vfHkfØ;k dks iw.kZ dhft;s & 

     

  

 (v) Why acetamide does not show reactions of primary amino group?           [1] 

  ,slhVSekbM izkFkfed ,sehuks lewg dh vfHkfØ;k D;ksa ugha n’kkZrk gS\ 

 (vi) Why acetyl chloride is more reactive than acetic anhydride?            [1] 

  ,sflfVy DyksjkbM] ,slhfVd ,ugkbMªkbM ls vf/kd fØ;k’khy D;ksa gksrk gS\ 

 (vii) Why diethyl amine is a stronger base than Trieethyl amine?            [1] 

  Mkb bFkkf;y ,sehu] Vªkb bFkkf;y ,sehu dh rqyuk esa izcy {kkj D;ksa gSa\ 

 (viii) Why nitration of toluene is easier than benzene?               [1] 

  VkWyqbZu dk ukbVªhdj.k csathu dh vis{kk lqxerk ls D;ksa gksrk gS\ 

 (ix) Give the reaction of preparation of an unsaturated alcohol from organ lithium 

compound.                [1] 

  dkcZ fyfFk;e ;kSfxd ls ,d vlar`Ir ,sYdksgkWy cukus dh fof/k dh vfHkfØ;k nhft,A 

 (x) What happens when dimethyl zinc reacts with tertiary butyl chloride?           [1] 

  D;k gksrk gS tc MkbfeFkkf;y ftad dh fØ;k r̀rh;d C;wVkby DyksjkbM ls gksrh gS\ 

 

COClHC 56 + 2H
Pd

4BaSO

COClHC 56 + 2H
Pd

4BaSO
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PART – B @ @ @ @ [k.M[k.M[k.M[k.M    & & & & cccc    

UNIT –I@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – I 

Q.2 How will you bring the following conversions?     [1×5=5] 

 (a) Phenol → Picric acid 

 (b) Phenol → Bakelite 

 (c) Glycol → Acrolein 

 (d) Ethylene glycol → Dioxane 

 (e) Resorcinol → Fluorescein  

 vki fuEu ifjorZu fdl izdkj djsaxs\ 

 (a) fQuksy → fifØd vEy 

 (b) fQuksy → cSdsykbV 

 (c) XykbdkWy → ,sØksysu 

 (d) ,sfFkfyu XykbdkWy → MkbvkWDlsu 

 (e) fjlkWflZukWy → ¶yqvksjslhu 
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OR@@@@vFkokvFkokvFkokvFkok 

Q.3 Complete the following reaction –          [1×5=5] 

 (a) Glycerol + oxallic acid 
���℃
�⎯⎯� 

 (b) Glycerol 
�	 (�
����)
�⎯⎯⎯⎯⎯⎯�  

 (c) Glycol + Lead tetra acetate 
∆
→ 

 (d) Ethylene oxide        

 (e) Catechol + phthallic anhydride 
�� � ��
�⎯⎯⎯� 

 fuEu vfHkfØ;kvksa dks iw.kZ dhft, & 

 (a) fXyljkWy $ vkWDlsfyd vEy 
���℃
�⎯⎯� 

 (b) fXyljkWy  

 (c) XykbdkWy $ ysMVsVªk,slhVsV 
∆
→ 

 (d) ,sFkhyhu vkWDlkbM   

 (e) dsVSdkWy $ FkSfyd ,ugkbMªkbM 
�� � ��
�⎯⎯⎯� 

Br Mg (i)CH3

Hydrolysis)ii(

Br Mg (i)CH3

tyvi?kVu)ii(

¼vkf/kD;½HI
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UNIT –II@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – II 

Q.4 Write down one synthesis of each of the following –       [1×5=5] 

 (a) Benzaldehyde 

 (b) Acetophenone 

 (c) Phorone 

 (d) Salicylaldehyde 

 (e) Mesityloxide  

 fuEu esa ls izR;sd dk ,d la’ys"k.k fyf[k;s & 

 (a) csUtSfYMgkbM 

 (b) ,slhVksfQuksu 

 (c) Qksjksu 

 (d) lsfyflySfYMgkbM 

 (e) esflfVy vkWDlkbM   

OR@@@@vFkokvFkokvFkokvFkok 

Q.5 Write mechanism of the following reactions – (any two)   [2½+2½=5] 

 (a) Benzoin condensation 

 (b) Cannizzaro reaction 

 (c) Knoevengel Reaction 

 fuEu vfHkfØ;kvksa dh fØ;k fof/k fyf[k;s & ¼dksbZ nks½ 

 (a) csatkWbu la?kuu 

 (b) dSfut+kjks vfHkfØ;k 

 (c) uksosuty vfHkfØ;k 
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UNIT –III@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.6 (A) What happens when?   [1×2=2] 

  (a) Fumaric acid is oxidized with alkaline KMnO4. 

  (b) Malonic acid is heated with P2 O5. 

 (B) Explain why?   [1×3=3] 

  (a) Formic acid is stranger than acetic acid. 

  (b) Boiling point of acetyl chloride is low as compared to acetic acid. 

  (c) Cinnamic acid gives o – and p – substituted products on electrophilic 

substitution.  

 (A) D;k gksrk gS\ tc & 

  (a) ¶;wesfjd vEy dk vkDlhdj.k {kkjh; KMnO4 ds lkFk djk;k tkrk gSA 

  (b) esyksfud vEy dks P2O5 ds lkFk xeZ fd;k tkrk gSA 

 (B) le>kb;s D;ksa & 

  (a) QkWfeZd vEy ,sflfVd vEy dh vis{kk izcy gksrk gSA 

  (b) ,slhfVy DyksjkbZM dk DoFkukad ,slhfVd vEy dh rqyuk esa de gksrk gSA 

  (c) fluSfed vEy bysDVªkWu Lusgh izfrLFkkiu ls o - vkSj p – izfrLFkkfir mRikn nsrk gSA 
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OR@@@@vFkokvFkokvFkokvFkok 

Q.7 Write short notes on the following – [1¼×4=5] 

 (a) Hoffmann Bromamide reaction 

 (b) Action of heat on α, β, γ and δ – hydroxy acids. 

 (c) Hell Volhard - Zelinsky reaction 

 (d) Orientation and reactivity of electrophilic substitution in benzoic acid.  

 fuEu ij laf{kIr fVIi.kh fyf[k;s & 

 (a) gkWQeksu czksekekbM vfHkfØ;k 

 (b) α, β, γ vkSj δ – gkbMªkWDlh vEyksa ij m"ek dk izHkko 

 (c) gSy & oksYgkMZ & ftYladh vfHkfØ;k 

 (d) csatksbd vEy esa bysDVªkWu Lusgh izfrLFkkiu vfHkfØ;k esa fØ;k’khyrk ,oa funsZ’ku 

UNIT –IV@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.8 Complete the following reactions – [1×5=5] 

  

 (a)  

  

  

 (b)   

 

 (c)  

 

NO2

COOH

2NO

2NO

( )CaO  NaOH+

A B
HCl  NaNO2 +2NH

2NO
O Cu /HNO 22

256 NOHC 4BH Na
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 (d)  

  

  

 (e)   

  

 fuEu vfHkfØ;kvksa dks iw.kZ dhft, & 

  

 (a)    

   

  

 (b)           

            

  

 (c)     

  

 (d) 

  

  

 (e)  

 

 

+

( )
23CHN

2 HCHO 2ZnCl

+ HONO

3CH . NH

NO2

COOH

2NO

2NO

( )CaO  NaOH+

A B
HCl  NaNO2 +2NH

2NO
O Cu /HNO 22

256 NOHC 4BH Na

+

( )
23CHN

2 HCHO 2ZnCl

+ HONO

3CH . NH
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OR@@@@vFkokvFkokvFkokvFkok 

Q.9 Write short notes on – 

 (a) Stability of aromatic diazonium salt [2] 

 (b) Backing reaction [1] 

 (c) Heinsberg test to differentiate primary, secondary and tertiary amines [1] 

 (d) Carbyl amine reaction [1] 

 fuEu ij laf{kIr fVIIk.kh fyf[k;s & 

 (a) ,sjksesfVd Mkb,stksfu;e yo.k dk LFkkf;Ro 

 (b) cSfdax vfHkfØ;k 

 (c) izkFkfed] f}rh;d vkSj r`rh;d ,sehuksa esa varj djus dk fgUl oxZ ijh{k.k  

 (d) dkfcZy ,sehu vfHkfØ;k 

UNIT –V@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – V 

Q.10 Explain the following – 

 (a) Benzene is more aromatic than Naphthalene. [1] 

 (b) Electrophilic substitution in Naphthalene occurs mainly at α - position. [2] 

 (c) Anthraquinone gives electrophilic substitution with difficulty. [1] 

 (d) The electrophilic substitution reactions in anthracene occurs mainly at 9 – and       

 10 – positions. [1] 

 fuEu dks le>kb;s & 

 (a) uS¶Fksyhu dh vis{kk casthu vf/kd ,sjksesfVd gSA 

 (b) uS¶Fksyhu esa bysDVªkWu Lusgh izfrLFkkiu eq[;r;k α & fLFkfr ij gksrk gSA 

 (c) ,sUFkszfDouksu bysDVªkWu Lusgh izfrLFkkiu dfBukbZ ls nsrk gSA 

 (d) ,sUFkszlhu esa bysDVªkWu Lusgh izfrLFkkiu vfHkfØ;k,¡ eq[;r;k 9 & vkSj 10 & fLFkfr ij gksrh gSaA 
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OR@@@@vFkokvFkokvFkokvFkok 

Q.11 How will you bring the following conversions –  [1×5=5] 

 (a) Naphthalene → decalin 

 (b) Anthracene → 9, 10 – anthraquinone 

 (c) Naphthalene → α Naphthol 

 (d) Anthracene → Alizarin 

 (e) Isopropyl lithium → Tri isopropyl carbinol  

 vki fuEu ifjorZu fdl izdkj djsaxs & 

 (a) uS¶Fksyhu → Msdkyhu 

 (b) ,sUFkszlhu → 9] 10 & ,sUFkszfDouksu 

 (c) uS¶Fksyhu → α& uS¶FkkWy 

 (d) ,sUFkszlhu → ,sfytkfju 

 (e) vkblksizksfiy fyfFk;e → Vªkbvkblks izksfiy dkWfcZuksy 



 

 

[2208]  Page 12 of 16  

  

PART – C @ @ @ @ [k.M[k.M[k.M[k.M    & & & & llll 

Q.12 Write short notes on – [1½×5=7½] 

 (a) Fries rearrangement 

 (b) Lederer Manasse Reaction 

 (c) Claisen Reaction 

 (d) Hauben Hoesch Reaction 

 (e) Pinacol – Pinacolone rearrangement  

 laf{kIr fVIIk.kh fyf[k;s & 

 (a) fÝt+ iqufoZU;kl 

 (b) ysMsjj & ekukls vfHkfØ;k 

 (c) Dyst+u vfHkfØ;k 

 (d) gqcsu gkW’k vfHkfØ;k 

 (e) fiusdksy & fiusdksyksu iqufoZU;kl 
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Q.13 Discuss the following –                [1½×5=7½] 

 (a) Wittig reaction 

 (b) Baeyer Villiger oxidation 

 (c) Perkin condensation 

 (d) Tischenko’s Reaction 

 (e) Meervein Pondorf verley reduction  

 fuEu dh O;k[;k dhft, & 

 (a) fofVx vfHkfØ;k 

 (b) cs;j & fofytj vkWDlhdj.k 

 (c) ifdZu la?kuu 

 (d) fVjksUdks vfHkfØ;k 

 (e) ehjohu & iksUMQZ & oysZ vip;u 
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Q.14 How will you bring about the following conversions?          [¾×10=7½] 

 (a) Fumaric acid → tartaric acid 

 (b) Malic acid → Succinic acid 

 (c) Salicylic acid → Salol 

 (d) Malonic acid → acetic acid 

 (e) Lactic acid → Propanoic acid 

 (f) Naphthalene → Pthallic acid 

 (g) Lactic acid → Pyruvic acid 

 (h) Malonic acid → Carbon suboxide 

 (i) Cinnamic acid → Styrene 

 (j) Acetoacetic ester → Succinic acid  

 fuEu ifjorZu vki fdl izdkj djsaxs & 

 (a) ¶;wesfjd vEy → VkVZfjd vEy 

 (b) esfyd vEy → lfDlfud vEy 

 (c) lsfyflfyd vEy → lsyksy 

 (d) esyksfud vEy → ,slhfVd vEy 

 (e) ysfDVd vEy → izksisuksbd vEy 

 (f) uS¶Fksyhu → FkSfyd vEy 

 (g) ySfDVd vEy → ikb:fod vEy 

 (h) esyksfud vEy → dkcZu lcvkWDlkbM 

 (i) fluSfed vEy → LVkbjhu 

 (j) ,slhVks,slhfVd ,sLVj → lfDlfud vEy 
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Q.15 (A) How diazonium salt reacts with the following reagents? [¾×2=1½] 

  (a) HBF4 

  (b) H2O/boiling 

 (B) Give one method of synthesis of each of the following – [1×6=6] 

  (a) Mustard Gas 

  (b) Ethanediol 

  (c) Chloramine – T 

  (d) Acetanilide 

  (e) Saccharin 

  (f) Benzene sulphonic acid  

 (A) Mkb,stksfu;e yo.k fuEu vfHkdeZdksa ls dSls fØ;k djrk gS\ 

  (a) HBF4 

  (b) H2O/mckyus ij  

 (B) fuEu esa ls izR;sd ds la’ys"k.k dh ,d fof/k nhft, & 

  (a) eLVMZ xSl 

  (b) ,sFksu Mk;ksy 

  (c) Dyksjkehu & Vh 

  (d) ,slhVSfuykbM 

  (e) lSdsjhu 

  (f) csathu lYQksfud vEy 
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Q.16 (A) Give Howarth synthesis of naphthalene.    [2½] 

 (B) Write short notes on following –   [2½+2½=5] 

  (a) Structure of anthracene 

  (b) Frankland reagent  

 (A) uS¶Fksyhu dk gkoFkZ la’ys"k.k nhft,A 

 (B) fuEu ij laf{kIr fVIIk.kh fyf[k;s & 

  (a) ,sUFkszlhu dh lajpuk 

  (b) Ýsadys.M vfHkdeZd  

----------------------------------------- 


